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Topic 1 Basic Proportionality Theorem Multiple Choice Questions

1. In the adjoining figure, D and E are the mid-points of AB and AC

respectively. If DE = 4cm, then BC is equal to :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_bNjfEIAdHTjL

A. 4 cm

B.6 cm

C.8cm

D.12 cm

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bNjfEIAdHTjL

2. In AABC, DE| | BC, If AD = 3cm, BD = 2cm and

AFE = 2.7,then AC is equal to :

A. 6.5cm

B.4.5¢cm

C.3.5em

D. 5.5ecm


https://dl.doubtnut.com/l/_n4VGTguYadB6

Answer: B

o Watch Video Solution

AX
3.1n the adjoining figure, XY | | BC, then 1B is equal to :

A

A AX
CAY

B AX
" XB

AY
CAC


https://dl.doubtnut.com/l/_n4VGTguYadB6
https://dl.doubtnut.com/l/_yAllwTUAI3n6

AC
AY

Answer: C

o Watch Video Solution

4.In the given figure, EF' | | CA and FG | | AB then l];:)j—g is

equal to :

.--""".F_"ﬁ

DG
GB


https://dl.doubtnut.com/l/_yAllwTUAI3n6
https://dl.doubtnut.com/l/_cxKDGt3zAcrl

Answer: A

o View Text Solution

5.1n the given figure, AB | | PQ. If PQ = 1.5¢cm, QC = 2cm

and RQ = 8cm, then measure of AB’s:

A. 10 cm



https://dl.doubtnut.com/l/_cxKDGt3zAcrl
https://dl.doubtnut.com/l/_HPobHJa8ejWY

B.7.5em

C.9.5¢cm

D. 3.5¢cm

Answer: B

o Watch Video Solution

AX
6. In the given figure, XY | | BC and XZ | | AC then 1B is

equal to :

A



https://dl.doubtnut.com/l/_HPobHJa8ejWY
https://dl.doubtnut.com/l/_tfk7FCqsEMzo

XZ
AB

XY
AC

CcZ
BC

BZ
BC

Answer: C

o Watch Video Solution

7. ABCD is a trapezium in which AB | | DC and its diagonals

. : AO coO
intersect each other at the point O. Show that =
BO DO

A OB
" OA

8 AB
" CD

. o
" OD

5 AC
" BD


https://dl.doubtnut.com/l/_tfk7FCqsEMzo
https://dl.doubtnut.com/l/_mEMlQ5dgWvQK

Answer: A

o Watch Video Solution

8 In AABC , D and E are the mid-points of AB and AC
respectively, then the area of AADFEis :
A.4AABC
1
B. —AABC
4
C.2AABC

D. %AABC

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mEMlQ5dgWvQK
https://dl.doubtnut.com/l/_eNczonGFxqOy

9.1n the given fi XY | | BC,th AX
.In the given hgure, , then BX

A

AY
AC

YC
AY

AX
AB

AY
CY

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oLwF1A13nEOy

10.In AABC, PQ | | AB.The correct relation is :

A
P
B ®, C

L BQ _op

"BA CA

BAP_BQ

"PC  QC

CPQ_AB

"BQ BC

DPQ_AB

"QC AP
Answer: B

| &


https://dl.doubtnut.com/l/_oLwF1A13nEOy
https://dl.doubtnut.com/l/_XCnoeAcGPuBQ

[ Watch Video Solution J

1. In the given figure ZABC — ZAY X, then the ratio of the

corresponding sides is :

A

AX AB CB
AC AY XY

AB BC AX
"AY XY  AC
AB AC  BC
AX AY XY



https://dl.doubtnut.com/l/_XCnoeAcGPuBQ
https://dl.doubtnut.com/l/_VKGujxmG5qs1

AX AY XY
AC AB CB

Answer: D

° Watch Video Solution

12.In the figure, DE | | BC, AD: AB = 1:2, BC = 6cm, then

DFis:

B O

A.1cm

B.2cm


https://dl.doubtnut.com/l/_VKGujxmG5qs1
https://dl.doubtnut.com/l/_WDReVLDww5OO

C.3am

D.4 cm

Answer: C

o Watch Video Solution

13.In a trapezium ABCD, AB | | DC, Which of the following is a

correct statement ?

A
(]
¢ b
AOA_OB
"0C OD
AD AB

BC  DC



https://dl.doubtnut.com/l/_WDReVLDww5OO
https://dl.doubtnut.com/l/_i5EiwUO3E3fS

OB BC

“op~ D

b OA B AD

"0C DC
Answer: A

o Watch Video Solution

14. In the following figure DE| | AB. If AD = Tcm,

CE = 10cm and CD = bcm, then the length of BE =

C



https://dl.doubtnut.com/l/_i5EiwUO3E3fS
https://dl.doubtnut.com/l/_aQBbNi1up708

A.17 cm

B.14 cm

C.12cm

D.20cm

Answer: B

° Watch Video Solution

15. In the figure, XY | | BC, AX = 9¢m, XB = 4.5¢cm and

BC = 18c¢m, then XY =


https://dl.doubtnut.com/l/_aQBbNi1up708
https://dl.doubtnut.com/l/_lAJiFqMRJYGd

A. l4em

B.12cm

C.16 cm

D.18 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lAJiFqMRJYGd

16. in the figure, MN| | PR. If QN:NR =2:3 and

PQ = 11.5cm then QM is equal to :

P

A.10 cm

B.2.3cm

C.4 cm

D.4.6¢cm

Answer: D

O Watch Video Solution



https://dl.doubtnut.com/l/_Dk05kfgbndew

17. In a trapezium ABCD, AB | | DC, Which of the following is a

correct statement ?
A

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_Dk05kfgbndew
https://dl.doubtnut.com/l/_bLNSLz6puXbJ

18. It the following figure, ZABC =90° and BD | AC. If

AD = 8cm, CD =2 cm, then the length of BD is :

A

A.4 cm

B.8 cm


https://dl.doubtnut.com/l/_KcAJaial4FoF

C.16 cm

D.10 cm

Answer: A

o Watch Video Solution

19. The corresponding sides of two equiangular triangles are :

A. Equal

B. Parallel

C. Proportional

D. Unequal

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KcAJaial4FoF
https://dl.doubtnut.com/l/_sUvmkzYrw4Or

20. In the given AABC = ~-APQC. The ratio of their

corresponding sides is :

AB BC AC
PQ PC QC
AB BC AC
PC  PQ QC
BC AB AC

“P0 -~ 0Cc _ PC



https://dl.doubtnut.com/l/_sUvmkzYrw4Or
https://dl.doubtnut.com/l/_gRsYpvifnwtm

DAB_BC_AC
"PQ QC PC

Answer: D

° Watch Video Solution

A
21.In the figure, Z/ABC = ZAQP = 90°, then —Q

A



https://dl.doubtnut.com/l/_gRsYpvifnwtm
https://dl.doubtnut.com/l/_eMXCfLpXmdxJ

BC

AC
‘PO
QP
" BC
AP
" AB

Answer: C

° View Text Solution

22.In AABC and ADEF is (AB)/(DE) = (BC)/(DF) then they will

be similar if:

A /Band ZFE

B./A and /D

C.Z/B and ZD

D./ZA and /F


https://dl.doubtnut.com/l/_eMXCfLpXmdxJ
https://dl.doubtnut.com/l/_9lwHHWzkBkjB

Answer: C

o Watch Video Solution

23. In the figure AABC, BE | AC and CF 1 AB,,

AD 1 BC, .then AF2 + BD2 + CE2 =

A. OA2 + OB2 + OC2


https://dl.doubtnut.com/l/_9lwHHWzkBkjB
https://dl.doubtnut.com/l/_i7hxi6sOZMSS

B.OD2 + OE2 + OF2

C.AB2 + BC2 + AC2

D. AE2 + BF2 + CD2

Answer: D

o Watch Video Solution

24. In a right-angled triangle ABC, ZCAB = 90°. If AD | BC,

then the angle equal to ZACD is :


https://dl.doubtnut.com/l/_i7hxi6sOZMSS
https://dl.doubtnut.com/l/_XbBNFGzLbuio

A.ZABD

B.Z/DAB

C.LCAD

D.ZADE

Answer: B

e


https://dl.doubtnut.com/l/_XbBNFGzLbuio

| ¥ View lext Solution J

25. If the given triangles are similar, then the ratio between their

sides is :

5 cC H

AB BC AC
PQ OR PR
AB BC AC
PR QR PO
AB RC AC
QR  RP PQ
AB BC AC
QR  PQ RP

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XbBNFGzLbuio
https://dl.doubtnut.com/l/_jh3nH6uDVEo1

26. Sides of a triangle are of length 2 cm, 3 cm and 4 cm

respectively. Which of the sets of number are the sides of a

triangle, similar to the above trianlge ?

A4,5,6

B.5, 6,7

c.12,13, 14

D. 6,9, 12

Answer: D

° Watch Video Solution

27. In the figure ZAPQ = ZACB and ZAQP = ZABC. Then

AP.AB is equal to :


https://dl.doubtnut.com/l/_jh3nH6uDVEo1
https://dl.doubtnut.com/l/_yTDg8ar7wCvy
https://dl.doubtnut.com/l/_ca28z6Nr4A5q

A.AQ. AC

B.AP.AB

C.AC. BC

D.BC. AB

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ca28z6Nr4A5q
https://dl.doubtnut.com/l/_yyesStUVFtXz

28. In parallelogram ABCD, P is a point on BC. In ADCP and
ABLP,DP: PLis equal to:

D C

A.DC': BL

B. DC': BP

C.PC:BL

D.DC': PL

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yyesStUVFtXz
https://dl.doubtnut.com/l/_Xe88dRMAt9sx

29. Select the set of numbers from the following which can form

the similar triangles.

A.9,12, 18 and 3, 4, 6

B.3,4,6and 9, 10, 12

C.8,6,12and 2, 6, 3

D.3,4,5and 2,4, 10

Answer: A

° Watch Video Solution

30. AABC has sides of length 5 cm, 6 cm and 7 cm. The
perimeter of ADEF is 360 cm. If AABC = ADEF then the

ratio of the ratio of the perimeters of AABC' and ADEF is :

Al:2


https://dl.doubtnut.com/l/_Xe88dRMAt9sx
https://dl.doubtnut.com/l/_YHo75bg4n9jB

B.2:1

C.1:20

D.20:1

Answer: C

o View Text Solution

Topic 1 Basic Proportionality Theorem Very Short Answer Type

Questions

1. State "Basic proportionality theorem”

o Watch Video Solution

AY 1
2.1n AABC, XY | | BC, W = 5 and AX = 4.Find BX.



https://dl.doubtnut.com/l/_YHo75bg4n9jB
https://dl.doubtnut.com/l/_Go6dMy3WKHyL
https://dl.doubtnut.com/l/_5rOYXMqAg2jQ

_ o Watch Video Solution

3. State Thales theorem.

° Watch Video Solution

AD 3
4.In AABC ,DE is parallel to BC, If DE - 3 and AC = 4.8cm,

then find AE.

o Watch Video Solution

5. What is the name of the quadrilateral formed by joining the

midpoint of sides of a given quadrilateral ?

o Watch Video Solution



https://dl.doubtnut.com/l/_5rOYXMqAg2jQ
https://dl.doubtnut.com/l/_rAAHDYxT8z3N
https://dl.doubtnut.com/l/_dFOz9a09Ul3c
https://dl.doubtnut.com/l/_4TsSdBCt4EQ7
https://dl.doubtnut.com/l/_X1PoBtLvj7o1

6. In AABC, AB=6cm and DE | | BC such that

1
AFE = ZAC’ then what is AD ?

o Watch Video Solution

7.In AABC, D and E are points on side AB and AC respectively
such that DE | | BC and AD: DB = 3, If EA = 3.3cm, them

find AC.

° Watch Video Solution

8. In the adjoining figure ZABC = 90° and BD | AC, express

(AD = DC),in terms of BD ?


https://dl.doubtnut.com/l/_X1PoBtLvj7o1
https://dl.doubtnut.com/l/_A7f2Hc9lMoke
https://dl.doubtnut.com/l/_k5Asl1ecxOrz

B C

o View Text Solution

9.In AABC =90°, BD 1 AC. If BD = 8&m and AD = 4cm,

find CD.


https://dl.doubtnut.com/l/_k5Asl1ecxOrz
https://dl.doubtnut.com/l/_hln1Po2i6kp5

o Watch Video Solution

10. For two similar triangles ABC and PQR, /A = 40°, /B = 60°,

then what is /R ?

o Watch Video Solution



https://dl.doubtnut.com/l/_hln1Po2i6kp5
https://dl.doubtnut.com/l/_rKZi09UmJf62

11. Give two different examples of pair of

similar figures.

o Watch Video Solution

12. If AABC and ADEF are similar and 2AB = DE,

BC = 8cm, then calculate EF.

° Watch Video Solution

13. If AABC~-APQR, perimeter (AABC) = 20cm, perimeter

(APQR) = 20cm and AB = 8cm, then find PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_rKZi09UmJf62
https://dl.doubtnut.com/l/_BDo8QjYZprUG
https://dl.doubtnut.com/l/_RjaGAkGmD7b4
https://dl.doubtnut.com/l/_ixMlfyuOHjL9
https://dl.doubtnut.com/l/_XvCy38pElF3V

14.1f AABC-APQR, then find £B.

o Watch Video Solution

15. If APQR in congruent to ASTU, then what is the length of TU?

o Watch Video Solution

16. n AABC and ADEF, /B=/E, /F =/C and

AB = 2DE, then what do we use to cell these two triangles?

o Watch Video Solution

17. In AABC, AD is the bisector of ZBAC. If AB = 8cm,

BD = 6em and DC = 3em, then find AC.

| o Watch Video Solution


https://dl.doubtnut.com/l/_XvCy38pElF3V
https://dl.doubtnut.com/l/_MIA5zsIp5x4j
https://dl.doubtnut.com/l/_Mlrd64xxI4bA
https://dl.doubtnut.com/l/_uZtqKw700gTu

Topic 1 Basic Proportionality Theorem Short Answer Type Questions

1. n AABC, ZABC =90°, BD 1 AC. If BD = 8cm,

AD = 4em, find CD .
A

o Watch Video Solution

2. In AABC, DE| | BC and CD | | EF. Prove that

AD?> = AF. AB.


https://dl.doubtnut.com/l/_uZtqKw700gTu
https://dl.doubtnut.com/l/_WAgIV59tggCz
https://dl.doubtnut.com/l/_Aghy3Ch7RtAm

R —3

° View Text Solution

3. In the following figure, AC | | BD and CE | | DF. If

OA = 13em, AB = 9¢m, OC = 8cm and EF' = 4.5¢m, find OE.


https://dl.doubtnut.com/l/_Aghy3Ch7RtAm
https://dl.doubtnut.com/l/_78Wwqka1sUfs

o View Text Solution

4. In AABC, AD is the median and PQ | | BC. Prove that

PE = EQ


https://dl.doubtnut.com/l/_78Wwqka1sUfs
https://dl.doubtnut.com/l/_GfVkdnAhnCbr

B D C

o Watch Video Solution

5.In AABC,PQ | | BC,AP = 3cm, AR = 4.5¢cm, AQ = 6cm

,AB = 5¢m and AC' = 10cm. Find the length of AD.


https://dl.doubtnut.com/l/_GfVkdnAhnCbr
https://dl.doubtnut.com/l/_Ug6M1p40CMUY

B D o

° Watch Video Solution

6. If one diagonal of a trapezium divides the other in the ration

1:2,then prove that one of the parallel sides is twice the other.


https://dl.doubtnut.com/l/_Ug6M1p40CMUY
https://dl.doubtnut.com/l/_iwtC1rOeZemt

o Watch Video Solution

7. A ladder resting against a vertical wall has its foot on the
ground at the distance of 6 cm from wall. A man climbs two third

of the ladder. What will be his distance from the wall now ?

o Watch Video Solution

8. Study the following figure. Write the ratios in relation to basic

proportionality theorem and its corollarise, in terms of a, b, c and


https://dl.doubtnut.com/l/_iwtC1rOeZemt
https://dl.doubtnut.com/l/_PPooNSYNqFDT
https://dl.doubtnut.com/l/_tfHyv5OdhjOk

° Watch Video Solution

9.1n A ABC,DE || BC.If AD=5cm,BD =7 cm and AC =18 cm, find

the length of AE.


https://dl.doubtnut.com/l/_tfHyv5OdhjOk
https://dl.doubtnut.com/l/_zLRUbLbhKSp9

o Watch Video Solution

10. In the given figure, AC| | BD and CE| | DF. If

OA = 12e¢m, AB = 9¢m, OC = 8c¢m and EF = 4.5¢m, find OE.

| o WMlabk . \Ntdaa CcolL..lam


https://dl.doubtnut.com/l/_zLRUbLbhKSp9
https://dl.doubtnut.com/l/_PRKwPLplJFeF

L . ryvadilll VIUCU JVIULIVII J

11. At certain times of the day trees casts its shadow 12.5 feet

long. If the height of the tree is 5 feet, find the height of another

tree the casts its shadow 20 feet long at the same times.

A

° Watch Video Solution

12. X is any point inside AABC, XA, XB and XC are joined 'E' is any

pointon AX.If EF' | | AB,FG | | BC.Peove that EG | | AC.


https://dl.doubtnut.com/l/_PRKwPLplJFeF
https://dl.doubtnut.com/l/_ZHYASdmKVeMg
https://dl.doubtnut.com/l/_hZUEFyOEfoKe

o Watch Video Solution

13.In AABC, /B = ZC, D and E are the points on AB and AC
such that BD = CE, prove that DE | | BC.

A

B


https://dl.doubtnut.com/l/_hZUEFyOEfoKe
https://dl.doubtnut.com/l/_XmeavGJNJ1Kk

o Watch Video Solution

14. AABC — ADEF, Area of AABC = 64cm? and area of

ADEF = 121em?. If EF = 15.4cm, Find BC.

o Watch Video Solution

15. In AABC, /ABC =90°, BM 1 AC, AM = 8z°,

AM = 22% find BM and AB.


https://dl.doubtnut.com/l/_XmeavGJNJ1Kk
https://dl.doubtnut.com/l/_egfKJHQsYTQz
https://dl.doubtnut.com/l/_IiwF7a3ch1oI

B C

° View Text Solution

16. From the following data, State whether AABC is similar to
ADEF or not:

(@ LA =70°,/B =80°,4D = 70°, /F = 30°

(b) AB =8cm, BC =9cm, CA = 15¢m, DFE = 4cm,

FEF = 3cm, D = 5¢em.


https://dl.doubtnut.com/l/_IiwF7a3ch1oI
https://dl.doubtnut.com/l/_EpIytYU3zQbn

° View Text Solution

17. Select the set of numbers in the following, which can form
similar triangles.
(1)3,4,6(11) 9,12,18

(1) 8,6,12 (Iv) 3,4,9

o View Text Solution

18. In the figure, ZQPR = ZUTS = 90° and PR | | TS. Prove

that

Prove that E\_\. PQR ~ E. TUS.
P



https://dl.doubtnut.com/l/_EpIytYU3zQbn
https://dl.doubtnut.com/l/_m89cIaJc3kDw
https://dl.doubtnut.com/l/_anWvHe7YaY9T

o Watch Video Solution

19. In the following figure, ZABC = 90° and ZAMP = 90°.

Prove that : (1)

(i) El«. ABC ~ EL\.AMP

an) CA BC
PA MP

o Watch Video Solution



https://dl.doubtnut.com/l/_anWvHe7YaY9T
https://dl.doubtnut.com/l/_7mPaaiKHNJE7

Topic 1 Basic Proportionality Theorem Long Answer Type Questions

1.In the trapezium ABCD, AB | | DC and AARD - ABEC.Then

Prove that AD = BC.

A 5 B

D == =

o Watch Video Solution

2. If a straight line divdes two sides of a triangle proportionally,
then the straight line a parallel to third sides, (Converse of Thales

theorem). Prove.

| & |


https://dl.doubtnut.com/l/_pfUAInLdhnQR
https://dl.doubtnut.com/l/_ZrH6W89ULoo9

| & Watch Video Solution

3.1n a trapezium, prove that the line joining the midpoints of non

- parallel sides are parallel to the parallel sides of the trapezium.

° Watch Video Solution

4.In a trapezium ABCD,AB | | CD
If OA = 3z — 19

oC=3-5


https://dl.doubtnut.com/l/_ZrH6W89ULoo9
https://dl.doubtnut.com/l/_qZYsTKCJ5oEJ
https://dl.doubtnut.com/l/_7eGGCbdYOHIO

BO =2 —3and OD = 3,find x

° Watch Video Solution

5. Find the unknown values is each of the following figures. All

lengths given in centimetres. (Measures are not in scale)

(a)


https://dl.doubtnut.com/l/_7eGGCbdYOHIO
https://dl.doubtnut.com/l/_KpGNsvsMoCvS

(b)

Q)


https://dl.doubtnut.com/l/_KpGNsvsMoCvS

12

o View Text Solution

6. In AABC, D and E are points in the sides AB and AC
respectively such that DE | | BC If AD = 6cm, DB = 9cm,

and AE = 8cm find AC.

° Watch Video Solution



https://dl.doubtnut.com/l/_KpGNsvsMoCvS
https://dl.doubtnut.com/l/_gmaOfmz0QMRa

7. E and F are points on the sides PQ and PR respectively of A
PQR. For each of the following cases, state whether EF || QR:

(i) PE = 3.9cm, EQ = 3cm, PF = 3.6cm, FR = 2.4cm

(i) PE = 4cm, QF = 4.5cm, PF = 8cm, RF = 9cm

(iii)

PQ = 1.28¢m, PR = 2.56cm, PE = 0.18cm, PF = 0.36cm

° Watch Video Solution

8. In the figure, PC | | QK and BC | | HK. If AQ = 6cm,

QH = 4cm, HP = 5¢cm and KC = 18cm. Find AK and PB.


https://dl.doubtnut.com/l/_1NWFAwlmcE8s
https://dl.doubtnut.com/l/_2jbkZLPGrlpf

B —=C

o Watch Video Solution

9. In the figure, PR| | RC and QR | | BD. Prove that

PQ| | CD.

o Watch Video Solution



https://dl.doubtnut.com/l/_2jbkZLPGrlpf
https://dl.doubtnut.com/l/_HBak2RmSEZme

10.In AABC,DE | | BCand CD | | EF.Prove that

AD?> = AF x AB

o Watch Video Solution

1. If the diagonals of a quadrilateral divide each other

proportionally, then prove that the quadrilateral is a trapezium.

o Watch Video Solution



https://dl.doubtnut.com/l/_HBak2RmSEZme
https://dl.doubtnut.com/l/_geYanDuDVrJ9
https://dl.doubtnut.com/l/_CCEXnbdtjDEL

12. In the gi fi 5P P d LPST = ZPRQ. P
. INn e given ure, —— = —— an = . Frove

that PQR is an isosceles triangle.

r

) K

° Watch Video Solution

13.1n a AABC, let P and Q be points on AB and AC respectively

such that PQ | | BC. Prove that the median AD bisects PQ.



https://dl.doubtnut.com/l/_CCEXnbdtjDEL
https://dl.doubtnut.com/l/_pVlLZ87TkX7Z
https://dl.doubtnut.com/l/_DPzysSMAuK5W

_ o Watch Video Solution

14. Throught the mid-point M of the sides of a parallelogram
ABCD, the line BM is drawn intersecting AC at L, and AD produced

to E. Prove that EL = 2BL.

B

.

o Watch Video Solution



https://dl.doubtnut.com/l/_DPzysSMAuK5W
https://dl.doubtnut.com/l/_tUq1yTEItuwQ

15. Prove that the two madians of a triangle divide each other in

the ratio 2: 1

° Watch Video Solution

16. In the given figure ZABD = /BDC and CD = 4AB. Show

that BD = bBE.

o Watch Video Solution



https://dl.doubtnut.com/l/_l1U9R153vaQN
https://dl.doubtnut.com/l/_gQ0hc4I0hVrX

Topic 1 Basic Proportionality Theorem Long Answer Type Questions

1
1. Ina AABC, XY | | BC and XY = EBO' If the area of

AAXY = 10cm?. Find the area of trapezium XYCB.

o Watch Video Solution

2. State and prove Basic proportionality theorem



https://dl.doubtnut.com/l/_3FmV5qo7QCgW
https://dl.doubtnut.com/l/_x7PKvKT8NLje

| ° Watch Video Solution

3. In a trapezium ABCD, AB| | AD and DC = 2AB.

3
EF | | AB, cuts AD in F and BC in E such that BE _ —.
EC 4

Diagonal DB intersects EF at G. Prove that, TEF = 10AB.

° Watch Video Solution

4. Let ABC be a triangle and D and E be two points on sides AB
such that AD = BE.If DP | | BC and EQ | | AC, then prove

that PQ | | AB.

° Watch Video Solution

5. Prove that "If two triangles are equlangular, then their

corresponding sides are proportional”.


https://dl.doubtnut.com/l/_x7PKvKT8NLje
https://dl.doubtnut.com/l/_CgiZ5ZWIqCAz
https://dl.doubtnut.com/l/_ZNHhDEs0iBib
https://dl.doubtnut.com/l/_OdyQ7iYQGcTb

° Watch Video Solution

6. Study the following fgures and find out in each case whether

the triangles are similar. Give reason. (a)


https://dl.doubtnut.com/l/_OdyQ7iYQGcTb
https://dl.doubtnut.com/l/_3DQ9SGUXWGYe

(b)


https://dl.doubtnut.com/l/_3DQ9SGUXWGYe

o View Text Solution

Topic 3 Area Of Similar Triangles Multiple Choice Questions



https://dl.doubtnut.com/l/_3DQ9SGUXWGYe
https://dl.doubtnut.com/l/_bsMSHMViFEC5

1. The sides of two triangles are in the ratio 2: 3. Then their areas

are in the ratio :

A.9:4

B.4:9

C.2:3

D.3:2

Answer: B

o Watch Video Solution

2. In the given figure, AB = CF, EF = BD ZAFE=/ADBC. Prove that

AAFE=ACBD

° Watch Video Solution



https://dl.doubtnut.com/l/_bsMSHMViFEC5
https://dl.doubtnut.com/l/_DbM6YXyyfKgV
https://dl.doubtnut.com/l/_jK0fwW68znfX

3.Triangles ABC and DEF are similar .The area of AABC is 16cm? ,

and that of ADEF 25¢m? . If BC=2.3 ¢cm, find EF

° Watch Video Solution

4. The corresponding sides of two similar triangles are in the

ratio 4: 9. The ratio between their areas is :

A2:3

B.16:18

C.81:16

D.14:19

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jK0fwW68znfX
https://dl.doubtnut.com/l/_5IU92Q5m2ydZ

5. If the ratio of the perimeter of two similar triangles is 4:25,

then find the ratio of the areas of the similar triangles

Answer: A

° Watch Video Solution

6. Which of the following is not a correct statement ?

A. All the rectangles are similar

B. All the rhombus are similar


https://dl.doubtnut.com/l/_Q8jxXer69eUz
https://dl.doubtnut.com/l/_v0YTme48vHqQ

C. All the right angled triangles are similar

D. All the equilateral traingles are similar

Answer: D

° Watch Video Solution

7.The area of two similar triangles ABC and PQR are '25 cm”2' and

'"49cm "2' If QR=9.8 cm then BC is

o Watch Video Solution

8. Two similar triangles have areas 120sq. cm and 480sq. cm

respectively. Then the ratio of any pair of corresponding sides is :

Al:4


https://dl.doubtnut.com/l/_v0YTme48vHqQ
https://dl.doubtnut.com/l/_R0AmNxU1WF7O
https://dl.doubtnut.com/l/_dykj2KcvxvnV

B.1:2

C.4:1

D.2:3

Answer: B

° Watch Video Solution

9.In a A ABC, DEF are respectively, the mid- points of BC,CA, and

AB. If the lengths of side AB, BC and CA are 7 cm, 8 cm, 9 cm,

respectively, find the perimeter of A DEF.

A. 12e¢m

B.21cm

C.24em

D. 18m


https://dl.doubtnut.com/l/_dykj2KcvxvnV
https://dl.doubtnut.com/l/_MveIzXvKbAdl

Answer: A

o Watch Video Solution

10. The area (A) of triangle, whose base is 4 units longer than its

altitude (x) is :

1
A A= Esc(:c —4)

1
B.A = Em(m + 4)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_MveIzXvKbAdl
https://dl.doubtnut.com/l/_wrhsL8bARJf5

Topic 3 Area Of Similar Triangles Very Short Answer Type Questions

1. What is the ratio of areas of two similar triangles whose sides

are in the ratio 15:19 ?

o Watch Video Solution

2. The areas of two similar triangles are 8lem?® and 49cm?

respectively. What is the ratio of their corresponding sides ?

o Watch Video Solution

AP
3.1f AABC-APQR with & — L then find Z2LEC

QR 3 arABCA

o Watch Video Solution



https://dl.doubtnut.com/l/_DeeSYMNLNbbo
https://dl.doubtnut.com/l/_rbIr2zEgiYpl
https://dl.doubtnut.com/l/_3XQlrxgaAGWt

4. If two triangles are similar such that the ratio of their areas is

25: 16, then is the ratio of their corresponding medians ?

o Watch Video Solution

5. If AABC-ADEF, BC = 3cm, EF = 4cm, and Area of

AABC = 54cm?, then Area of ADEF is

° Watch Video Solution

6. The areas of two similar triangles are 121cm? and 64cm?
respectively. If The madian of first triangle is 12.1¢cm, then what is

the corresponding median of the other triangle ?

° Watch Video Solution



https://dl.doubtnut.com/l/_IWpH4soCzoJD
https://dl.doubtnut.com/l/_3z3p7CM5kQex
https://dl.doubtnut.com/l/_bR08jbZqjmRL

Topic 3 Area Of Similar Triangles Short Answer Type Questions

1. If the area of the similar triangles are equal, then they are

congruent. Prove.

o Watch Video Solution

2.In AABC, XY | | BC and XY divides the triangle into two

parts of equal area. Find BX : AB.


https://dl.doubtnut.com/l/_em9RDFm5wZea
https://dl.doubtnut.com/l/_koy9nH7oTaH5

[Hint: ABC = 2AAXY]

A

[ C

° Watch Video Solution

3. In the trapezium ABCD, AB| | CD, AB = 2CD and

ar(AAOB) = 84cm?, find the area of ACOD.


https://dl.doubtnut.com/l/_koy9nH7oTaH5
https://dl.doubtnut.com/l/_UScrz2uqGpkf

° Watch Video Solution

4. In the given figure, AE | | DB, BC = 7cm, BD = 5cm,

DC = 4cem. If CR = 12cm, find AE and AC

L
4¢ 5com
A -
Y om B
12 cm
E

o Watch Video Solution



https://dl.doubtnut.com/l/_UScrz2uqGpkf
https://dl.doubtnut.com/l/_gbzEcT6u4761

5. AABC and ABDE are two equilateral triangles and

BD = DC. Find the ratio between areas of AABC and ABDE.

° Watch Video Solution

6. The corresponding altitudes of two similar triangles are 6 cm

and 9 cm respectively. Find the ratio their areas.

° Watch Video Solution



https://dl.doubtnut.com/l/_6TF5s3xrh6sw

7. Find the ratio between areas of AAOB and ACOD, if

AB =3CD

o Watch Video Solution

8. In the given figure DE | | BC. If AD = 1.5cm, BD = 2AD,

ar(AADE)
then find
ar(trapezium BCED)
A
B C

O Watch Video Solution




Topic 3 Area Of Similar Triangles Long Answer Type Questions

1.D, E and F are the mid-points of sides of AABC. P, Q, R are the
mid-points of sides DEF. This process of marking the mid-points
and forming a new triangle is continued. How are the areas of

these triangles related?

o Watch Video Solution

2. Two isosceles triangles are having equal vertical angles and
their areas are in the ratio 9:16. Find the ratio of their

corresponding altitudes.

o Watch Video Solution




3. A ABC and ABDC are on the same base BC. Prove that
ar(AABC) AO

ar(ADBC) DO

o Watch Video Solution

Topic 3 Area Of Similar Triangles Long Answer Type Questions i

1. Prove that “the ratio of the areas of two similar triangles is

equal to the square of the ratio of their corresponding sides”.

° Watch Video Solution




2. If the areas of two-similar triangles are equal, prove that the

they are congruent.

° Watch Video Solution

Topic 4 Pythagorean Triplets Multiple Choice Questions

1.In APQR, Z/ZPQR = 90°, The correct relation with respect in

APQRis:



A.PR? = PQ* — QR?
B.PQ? = QR? — PR?
C.PR? = PQ? + QR?

D.QR? = PQ? — PR?

Answer: C

o Watch Video Solution




2. In AABC, ZABC=9°, if AC=(z+vy) and
BC = (z — y), then length of AB is :

Az’ — y2

B.2zy

C.2,/77

D.z2 — 92

Answer: C

° Watch Video Solution

3. Which one of the following groups is a pythagorean triplet ?

A.3,4,5



B.1,2,3

C.2,3,4

D.9, 10, 14

Answer: A

o Watch Video Solution

4. The Pythagorean triplets among the following is :

A8, 15, 17

B.5, 8,17

C.5,12, 17

D.3, 6,9

Answer: A




| & Watch Video Solution

5. Which one of the following is Pythagorean Triplet ?

A.8, 15, 16

B.8, 15, 18

C. 10, 60, 61

D.8, 15, 17

Answer: D

° Watch Video Solution

6. "If the square of one side of a triangle is equal in the sum of
squares on the other two sides, then those two sides contain a

right angle ." This statement refers to :



A. Pythagoras theorem

B. Thales theorem

C. Converse of Thales theorem.

D. Converse of Pythagoras theorem

Answer: D

o Watch Video Solution

7. The length of a diagonal of a square of sides 5 cm is :

A.5\/2cm
B. 2,/5cm
C.10cm

D. 104/2cm



Answer: A

o Watch Video Solution

8. From the figure, the length of AD is :

A.12 cm

B.14 cm

C.1MMcam

D.13 cm

Answer: D

° View Text Solution




9. A straight pole of height 2 ft casts a shadow of 6 ft long at a

definate time. The height of another pole which casts a shadow of

12 ft at the same time is :

A3ft

B.4 ft

c.8ft

D. 20 ft

Answer: B

° Watch Video Solution

10. In a right-angles triangle, hypotenuse is | and the remaining

two sides are a m and n. Then the correct relation is :



B.n = +y/m? — [
Cm = 2 —n?
p) 2

Answer: C

° Watch Video Solution

M.In AXYZ if XY? —YZ? = XZ?, then the hypotenuse and
right angled vertex are :

A XZand /X

B.XYand /Z

C.YZand ZX

D.YZand /Y



Answer: B

o Watch Video Solution

12. In a rhombus ABCD, diagonals intersects at O. The sum of

AC? + BD? are:

A 4AB?



B.4AC?

C.4BD?

D.AAC?

Answer: A

o Watch Video Solution

13. In the figure OA = AB = BC = CD = 1 unit. The unit of

ODis:



A1

B. 2

C.3

D.4

Answer: B

° Watch Video Solution




14. Which of the following are the side of the right-angles triangle

?

A 36,17, 18

B. 20, 30, 10

C.35, 27, 18

D. 41, 40, 9

Answer: D

° Watch Video Solution

15. In a right-angled triangle ABC, if ZABC = 90°. Which of the

following is correct ?



A.BC? = AC? + AB?
B.AC? = AB? + BC?
C.AB? = AB? + AC?

D.BC? = AB? + AC?

Answer: A

o Watch Video Solution

16. A vertical pole of 10 cm casts a shadow of 8m at a certain time
of the day. The length of the shadow cast by a tower standing
next of the pole of height 30 miis :

A.375m

B.36 m

C.325m



D.32m

Answer: A

o Watch Video Solution

Topic 4 Pythagorean Triplets Very Short Answer Type Questions

1. What is the name given the largest side of a right angled

triangle ?

° Watch Video Solution

2. In a APQR, N is point on PR such that QN | PR, also

PN.NR = QN?2.Then find ZPQR

o Watch Video Solution




3. If S is a point on side PQ of a APQR such that

PS = QS = RS, then find PR? + QR?

o Watch Video Solution

4. A man gose 15 m due west and then 8 m due north. Calculate

the distance from the starting point.

o Watch Video Solution

5. A ladder 17 m long reaches a window of a building 15 m above
the ground. The distance of the foot of the ladder from the

building is?

° Watch Video Solution




Topic 4 Pythagorean Triplets Short Answer Type Questions

1. ABCD is square F is the mid-point of All. BE is one third of BC. If

the area of AFBE is 108cm?, Find the length of AC.

A F B

o Watch Video Solution




2. In this figure /PQR = 90° and QS | PR. If QP = 1.5cm

and QR = 2cm, calculate the length of QS.

P

Q Ix

° Watch Video Solution

3. The sides of right-angled triangle containing the right angle

are 5 cm and 12 cm. Find its hypotenuse.

° Watch Video Solution




4. Find the length of the diagonal of a square of side 12 cm.

° Watch Video Solution

5. The length of the diagonal of a rectangular playground is 125 m

and length of one side is 75 m. Find the length of the other side.

° Watch Video Solution




6. In LAW,
LLAW =90°, ZLNA =90° and LW = 26¢cm, LN = 6cm

and AN = 8cm. Calculate the length of WA.

W

O Watch Video Solution




7. In the given triangle PQR, Z/QPR = 90°, PQ = 24cm and
QR = 26cm and in APKR,/PKR = 90° and KR = 8cm, find

PK

Q

° Watch Video Solution

8. In an equilateral triangle ABC, AD is drawn perpendicular to BC

meeting BC in A Prove that AD? = zBD? Find x.



o Watch Video Solution

9. A man steadily gores 10 m due east and then 24 m due north.

Find the distance from the starting point.

° Watch Video Solution




Topic 4 Pythagorean Triplets Long Answer Type Questions

1.In AABC, AB = BC, BD is the altitude for the base AC of
triangle DC = = units BD = 2z — 1 units, BC = (2z + 1)

units. Find the measure of the sides of a triangle.

o Watch Video Solution

2.In AABC, C is a point on BD such that BC:CD=1:2 and AABC is

an equilateral triangle Prove that AD? = 7AC?

° Watch Video Solution

3.InAABC.Z/A =90° ,AD | BCand /B = 45°,if AR = «z,

find AD in terms of .

o Watch Video Solution




4. The perimeter of angled triangle is 30 cm and its hypotenuse is

13 cm. Find the length of other two sides of triangle.

° Watch Video Solution

5. ABCD is a trapezium is which AB| | CD and BC L AB. If
AB = 7.5¢cm, AD = 13cm and CD = 12.5¢m, find the length of

BC.

° Watch Video Solution

6. A ladder of length 2.6m is leaned against a wall. When it is at
distance of 2.4m from the foot of the wall, the top of the ladder

touches the bottom edge of the window in the wall. It the foot of



the ladder is moved 1.4m towards the wall, it touches the top

edge of the window. Find the height of the window.

o Watch Video Solution

7.In A ABC/BAC =90°/B: = /C =1:2 and AC = 4cm.

Calculate the length of DB.

o View Text Solution

Topic 4 Pythagorean Triplets Long Answer Type Questions li

1. Prove that "In a right triangle, the square of the hypotenuse is

equal to the sum of squares of the other two sides".

o Watch Video Solution




2. Derive the formula for height and area of an equilateral

triangle.

o Watch Video Solution

3.mnAABC,a +b =18 units ,b + ¢ = 25 unitsand ¢ + a = 17

units. What type of triangle is ABC? Give reason.

A

o Watch Video Solution




Topic 5 Pythagoras Theorem Short Answer Type Questions

1. In the given figure , BD | AC .Prove that

AB® + CD* = AD® + BC?

o Watch Video Solution

Topic 5 Pythagoras Theorem Long Answer Type Questions

1. n AABC, BD:CD = 3:1 and AD | BC. Prove that

2(AB* — AC?) = BC*.

o Watch Video Solution

2.In an equilateral triangle ABC, AD | BC.Prove that:

AB? + CD? = %AO2



o Watch Video Solution

3. ABC is a right angled triangle with ~/C = 90°,

BC =a,AC=b, CD 1 AB and C(CD = p. Show that
1 1 1

ol

a? b2

o Watch Video Solution

4. ABCD is a rhombus. Prove that AC? + BD? = 4AB?

o Watch Video Solution

Topic 5 Pythagoras Theorem Long Answer Type Questions i



1.In a right angled triangle, square on the hypotenuse is equal to

sum of the squares on the other sides. Prove the statement.

o Watch Video Solution

2."If the square on the longest sides of a triangle is equal to the
sum of the squares on the other two sides then those two sides

contain a right angle." Prove.

° Watch Video Solution

3.In AABC, CD 1 AB, CA =2AD and BD = 3AD. Prove

that /BCA = 90°

° Watch Video Solution




4. The shortest distance AP from a point "A’ to QR is 12 cm. Q
and R are respectively 15 cm and 20 cm from A’ and on

opposite sides of AP. Prove that /QAR = 90°

A
& 2
O 0
& |8 <
5%
dl
0 X P 14

° Watch Video Solution

Textbook Corner Exercise 2 1

1. Fill in the blank unsing the correct word given in brackets :

(i) All circle are ____ (congruent, similar)
(ii) All squares are ___ (similar, congruent)
(iii) All___triangles are similar.(isosceles, equilateral)

(iv) Two polygons of the same number of sides are similar, if (a)



their corresponding angles are _ and (b) their corresponding

sides are . (equal, proportional)

o Watch Video Solution

2. Give two different examples of pair of

similar figures.

° Watch Video Solution

3. State whether the following quadrilaterals are similar or not:

3tm ~
D_ Ll C
] L]
5 15 cm_PR 3Jecm Jcm
1.5 c[/ 1.5 cm .
' ' / X ] [
P™15em Q A 3em s

° Watch Video Solution




Textbook Corner Exercise 2 2

1.In Fig, (i) and (ii) , DE | | BC' .Find EC in (i) and AD in (ji).

° Watch Video Solution

2. E and F are points on the sides PQ and PR respectively of A
PQR. For each of the following cases, state whether EF || QR:

(i) PE = 3.9cm, EQ = 3cm, PF = 3.6cm, FR = 2.4cm

(ii) PE = 4cm, QFE = 4.5cm, PF = 8cm, RF = 9cm

(iii)

PQ = 1.28¢cm, PR = 2.56cm, PE = 0.18cm, PF = 0.36cm

| o WMlak . \nNdaa o lL..klam



L ¥Yvdlilll VIUCTU JUIULIVII

AM AN
.InFig.LM || CB LN ||CD, that .
3.In Fig.LM || CB and LN ||CD, prove tha 15 5
B
RN
N
D
o Watch Video Solution
. BF BE
4.InFig DE | | AC and AE.Prove that FE =~ BC
A
D,
B FE C

| ° Watch Video Solution




5.In Fig DE||OQ and DF||OR .Showthat EF | | QR.

AN

Q R

o Watch Video Solution

6. In Fig A, B and C are points on OP, OQ and OR respectively such

that AB || PQ and AC || PR . Show that BC || QR.



° Watch Video Solution

7. Using Theorem , prove that a line drawn thought the mid- point
of one side of a triangle parallel to another side bisects the third

side .( Recall that you have proved it in class IX).

° Watch Video Solution

8. Using Theorem , prove that the line joining the mid-point of

any two sides of a triangle is parallel to the third side. ( Recall



that you have done it is class IX) .

o Watch Video Solution

9. ABCD is a trapezium in which AB | | DC and its diagonals

. . AO CcoO
intersect each other at the point O. Show that =
BO DO

° Watch Video Solution

10. The diagonals of a quadrilateral ABCD intersect each other at

A
the point O such that O = ¢o show that ABCD is a
BO DO

trapezium.

° Watch Video Solution

Textbook Corner Exercise 2 3




1. State which pairs of triangles in Fig are similar. Write the
similarity criterion used by you for answering the question also

write the pairs of similar triangles in the symbolic form:

P

i .
j\
‘: 407 C(.? Hﬂa 4PN R - co - o
1

(i)

1)
)
271 \3 z,sﬁt‘.’ a \
76
M—7F—P E 5 F N ‘L“L Q o —p

(iii) (iv)

D
: /&5 : P
3

) 6 (i)

° Watch Video Solution




2. In the figure given below, AODC — AOBA, /BOC = 125°

and ZCDO = 70°.Find Z/DOC, 2DCO and ZOAB

D C
125°
A B

o Watch Video Solution

3. Diagonlas AC and BD of a trapezium ABCD with AB ||DC

intersect each other at the point O. using a similarity criterion for



two triangles, show that 04 =
gles, oc ~ oD

i * i
.I. F-:‘ { .:I % IlI
i . l'll
,:_,J A - i:l-
_ 4
n- : (

o Watch Video Solution

QR QT

4.In Fig . 05 = PR and |1 = |2.Showthat APQS-ATQR

"\
%

Al :

Q..r




| & Watch Video Solution

5.5 and T are point on sides PR and QR of APQR such that

/P = /ZRTS.Showthat ARPQ — ARTS.

o Watch Video Solution

6.In Fig.if AABE = ACD ,showthat AADE-AABC'.

° Watch Video Solution

7. In Fig. Altitudes AD and CE of AABC intersect each other at
the point P. Show that :

(i AAEP-ACDP

(i) AABD~-ACBE

(iii) AAEP-AADB



(ivy APDC-ABEC

C

o Watch Video Solution

8. E is a point on the side AD produced of a parallelogram ABCD

and BE intersects CD at F. show that A ABE~-ACFB

o Watch Video Solution




9. In Fig , ABC and AMP are two right triangles, right angled at B

and M respectively. Prove that :

AABC~-AAMP
C
M
A S . F
B

° Watch Video Solution

10. GD and GH are respectively the bisectors of

/ACB and ZEGF such that D and H lie on sides AB and FE of



AABC and and AEFG respectively. if AABC-AFEG ,show

that:
CD AC
GH FG

O Watch Video Solution

11.In Fig E is a point on side CB produced of an isosceles triangle

ABC with AB=AC. If AD | BC and EF | AC , prove that



AABD-AECT

° Watch Video Solution

12. sides AB and BC and median AD of a triangle ABC are

respectively proportional to side PQ and QR median PM of



APQR (see Fig ). Show that AABC-APQR

P
A

° Watch Video Solution

13. D is a point on the side BC of a triangle ABC such that

/ADC = /BAC .Show CA? = CB.CD

° Watch Video Solution

14. side AB and AC and median AD od a triangle ABC are

respectively proportional to side PQ and PR and median PM of



another triangle PQR. Show that AABC-APQR

° Watch Video Solution

15. A verticle pole of height 6m casts a shadow 4m long on the
ground, and at the same time a tower on the same ground casts

a shadow 28m long. Find the height of the tower.

° Watch Video Solution

16. If AD and PM are median of triangles ABC and PQR respectively

AB AD
where AABC — APQR, prove that PO = P

° Watch Video Solution




Textbook Corner Exercise 2 4

1. Let AABC-ADEF and their areas be , respectively ,

64cm? and 121cm? . If EF = 15.4 ¢m, find BC

° Watch Video Solution

2. Diagonals of a trapezium ABCd with AB | | DC intersect each
other at the point O. If AB = 2 CD, find the ratio of the areas of

triangles AOB and COD.

o Watch Video Solution




3. In the figure given below, ABC and DBC are two triangles on the

same base BC. If AD intersects BC at O, show that
ar(AABC) AO

ar(ADBC) DO’

A C

° Watch Video Solution

4.D, E and F are respectively the mid-points of the sides AB, BC
and CA of a AABC. Prove that by joining these mid-points D, E and

F, the AABC is divided into four congruent triangles

| ° Wiakrh \lidan CAaliikian




| § AAA-IATINER AL A T A A Al )

5. Prove that the ratio at the areas of two similar triangles is

equal to the square of the ratio of their corresponding medians.

° Watch Video Solution

6. Prove that the area of an equilateral triangle described on one
side of a square is equal of half the area of the equilateral

triangle described on one of its diagonals.

° Watch Video Solution

7. ABC and BDF are two equilateral triangles such that D is the

mid -point of BC. Ratio of the areas of triangles ABC and BDF is

° Watch Video Solution




8. Sides of two similar triangles are in the ratio 4 : 9 Areas of

these triangles are in the ratio

° Watch Video Solution

Textbook Corner Exercise 2 5

1. Sides of triangles are given below. Determine which of them are

right triangles.
In case of a right triangle , write the length of its hypotenuse.

7cm, 24 cm, 25 cm

° Watch Video Solution




2.PQR is a triangle right angled at P and M is a point on QR such

that PM L QR.Showthat PM? = QM. MR.

o Watch Video Solution

3. In Fig. ABD is a triangle right angled at Aand AC | BD show
that

(i) AB?> = BC. BD ,(ii) AC? = BC. DC , (iii) AD?> = BD.CD

° Watch Video Solution

4. ABC is an isosceles triangle right angled at C . Prove that

AB? = 2AC?.

° Watch Video Solution




5. ABC is an isosceles triangle right angled at C . Prove that

AB? = 2AC?.

° Watch Video Solution

6. ABC is an equilateral of side 2a . Find each of its altitudes.

° Watch Video Solution

7. Prove that sum of the squares of the side of a rhombus is equal

to the to the sum of the squares of its diagonals.

o Watch Video Solution

8. In the figure given below, O is point in the interior of a triangle

ABC,OD 1 BC,OF 1 ACand OF 1 AB.Show that



(i)
0OA% + OB? + OC? + OD? — OE? — OF? = AR? + BD? + CE?

(i) AF? + BD? + CE? = AE? + CD? + BF?

° Watch Video Solution

9. A ladder 10 m long reaches a window 8 m above the ground.

Find the distance of the foot of the ladder from base of the wall.

| e |



I & Watch Video Solution ]

10. A guy wire attached to a vertical pole of height 18 m is 24 m
long and has a stake attached to the other end . How far from the
base of the pole should the stake be driven so that the wire will

be taut ?

° Watch Video Solution

11. An aeroplane leaves an airpot and flies due north at a speed of
1,000 km per hour. At the same time, another aeroplane leaves
the same airport and flies due west at a speed of 1,200 km per

1
hour. How far apart will be the two planes after 15 hours?

° Watch Video Solution




12. Two poles of heights 6 m and 11 m stand on a plane ground. If
the distance between the feet of the poles is 12m , find the

distance between their tops .

° Watch Video Solution

13. D and E are points on the sides CA and CB respectively of a
triangle ABC right angale at C. prove that

AE? + BD?> = AB? + DE?.

° Watch Video Solution

14. The perpendicular from A on side BC of a AABC intersects

BC at D such the DB =3 CD . Prove that 2 AB? = 2AC? + BC?



° Watch Video Solution

15. In an equilateral triangle ABC, D is a point on side BC such that

1
BD = §B(J. Prove that 94 D> — 7AB>.

° Watch Video Solution

16. In an equilateral triangle , prove that three times the square pf

one side is equal to four times the square of one of its altitudes.

o Watch Video Solution




17. Tick the «correct answer and justify : In
AABC, AB = 6+/3cm, AC = 12cm and BC = 6cm

The angleBiis:

° Watch Video Solution

Textbook Corner Exercise 2 6

1. In the figure given below, PS is the bisector of ZQPR of

QRS PQ
APQR . Prove that E = ﬁ




° Watch Video Solution

2. In Figz. D is point on hypotenuse AC of

AABC,BD 1. ACDM 1 BC and DN | AB .Prove that:



(i) DM? = DN. MC , (ii) DN? = DM. AN

A
D N
C L] g
M
° Watch Video Solution
3. In Fig . ABC is a triangle in which
/ABC < 90° and AD 1 BC. Prove that



AC? = AB? + BC? — 2BC. BD.

H

° Watch Video Solution

4. In Fig . ABC is a triangle in which

/ABC < 90° and AD | BC. Prove that



AC? = AB? + BC? — 2BC. BD.

H

° Watch Video Solution

5.In Fig . AD is a median of a triangle ABD and AM | BC.

Prove that :



1
AC? + AB? = 2AD? + 5302

A

M- D C

o Watch Video Solution

6. Prove that the sum of the squares of the diagonals of

parallelogram is equal to sum of the squares of its sides.

o Watch Video Solution




7.1n Fig . two chords AB and CD intersect each other at the point
P. prove that :

AAPC-ADPB

° Watch Video Solution

8. In Fig. two chords AB and CD of a circle intersect each other at

the point P (when produced) outside the circle. Prove that (i)



APAC-APDB, (ii) PA.PB =PC . PD

° Watch Video Solution

BD AB

9.In Fig Di int ide BCof AAB h that =
n Fig .D is a point on side BC o C such tha oD ~ AcC

prove that AD is the bisector of /BAC.



° Watch Video Solution

10. Nazima is fly fishing in a stream. The tip of her fishing rod is
1.8m above the surface of water and the fly at the end of the
string rests on the water 3.6m away and 2.4m from a point
directly under the tip of the rod. Assuming that her rod to the fly)
is taut, how much string does she have out(see fig)? If she pulls in

the string at the rate of 5 cm per second, what will be the



heriozontal distance of the fly from her after 12 seconds.

° Watch Video Solution




